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4B E = 165,297,550 = 0.103 17,026
O=std=zXNcd 80,799
—-J23 41,6808 * 5% x 200 60,436
U222y
41,6803 * 5% * 41 * 1.5 12,817
—4EE= 73,252,600& = 0.103 7,546
201 Bt A | 111,090 115,090 A 4,000
01 At 22l Yl 85,750 85,750 0
Odet=gH| 84,250
—MYIIBSEH A3SFE 7Y
120& * 600,0000H 72,000
—SHHNSE sHAHE 300,000& = 8H 2,400
—AESEME EE AEHA
300& + 10,0000H 3,000
— 8 HIIZS A2EIH M 1702 * 5,0000H 850
—MYIISEEIILX EEZ2 ME
2,000,000& = 33 6,000
ogxs 1,500
— =Y gHJI2 2=&H Lt
500,000& = 3CH 1,500
02 3524l 25,340 29,340 A 4,000
03322 % MA 20,040
— 28 XZ0l AlE=E 10,0008 * 204 = 128 240
—CCTvald MHEE 35,000& = 30CH =128 12,600
—CCTVEIIAIE &S 20,000& * 3000 = 12& 7,200
OA& &Hl S XYl 5,300
— 2 X0 XNE= 400,000& = 2CH 800
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ool BNEY T4 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
—CCIVRAE(ARE LM )
500,000 = 18CH = 1/2 4,500
202 o4dl 5,400 5,400 0
01 = LH o4 1l 5,400 5,400 0
OMII=EEI gEFA
150,000& » 3¥ » 128 5,400
206 M= Hl 4,000 4,000 0
01 =8l 4,000 4,000 0
OSAsMYIIE HEHUESE (25249
5&) 4,000,000& 4,000
301 LEtE A= 1,000 1,000 0
1M1IIEEAS 1,000 1,000 0
OMYDIEYEI dNZEMF 1,000, 000& 1,000
307 21201 A 20,000 30,000 A 10,000
05 RIZHRI & 3 20,000 30,000 A 10,000
OYXIHIIZE HMelbl 200,000& * 100& 20,000
401 Al & HI & 2 08I 30,500 48,000 A 17,500
01 A& Bl 30,500 48,000 A 17,500
OZAI2toet ols &X 1,000,000& * 10CH 10,000
OZ& X120l 2AIIt0ct &X
1,500,000 *7CH 10,500
OoMedl 28EI XY e =4
10,000,000& 10,000
EZ2EALAX 7R 22 22,900 23,010 A 110
201 LBH2E| 22,900 23,010 A 110
02 8322l 22,900 23,010 A 110
02223 % HA 2,100
—EZ2EAX BFNERES
50,000& = 10 = 23l 100
—CZ2EAX BEZ(S+X 23 30%)
2,000,000& 2,000
O Xt & B | 20,800
—E2FAX 2 ¥ |RFH 16,000, 000& 16,000
- Eea 2 400,000& = 123 4,800
Mol =T 28 A& 1,827,036 1,515,013 312,023
201 Let24d] 5,100 5,100 0
02 8323l 5,100 5,100 0
Oz22= % HMA 4,080
—RAXF=H GPS AMAE A=
20,0003 = 17CH = 12& 4,080
OAIE ZHIS X 1,020
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Hz: HIIS Ale 2 Hel
ool HBEY =4 (29 a8)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
— AXNZ=A GPSAIAE SXEZ
5,0008 = 1704 = 12&€ 1,020
207 I & 20,000 20,000 0
01 g AY| 20,000 20,000 0
OMEMY D £=& - 26t (&AM HIIEH
20,000,000 20,000
402 SI2FXHE0| & 1,801,936 1,489,913 312,023
02 OI2HCH &4 AF S HI 1,801,936 1,489,913 312,023
OQI2+HTH & AL HI 1,801,936
—MEHIIZ =& .28 1,133,321
Bt M | D] 601,698,000 601,698
a3 203,978,000& 203,978
SASMY D 327,645,000 327,645
—SA=SFHII=2 HMeldl 668,615,000& 668,615
ANEHES 833, 166 731,925 101,241
= 61,500
= 13,000
= 758,666
MEHDI =S 23 556,276 470,475 85,801
= 40,500
= 515,776
101 e1214| 255,356 251,635 3,721
04 JIZtHIZ22XNEE 255,356 251,635 3,721
OMEgd MesE 22 255,356
A=) 46,680 * 14Y x 290 189,521
— 524224 46,680 * 14Y x 41L 26,795
—AEE = 216,315,120 * 0.103 22,281
—Exsy
46,6802 « 302 * 14%H x 312/365 16,759
201 2yt 2 Y| 68,820 46,240 22,580
01 AP 22| d| 59,420 36,840 22,580
Ogt42Y| 58,300
— MYD| Bi&S& A oFLHEN 50,0008 * 20004 10,000
—MHE2E £22I|(PPXEWH) ol
300 = 10,0000H 3,000
—MHESE Mg =222 HH
2002 = 10,0000H 2,000
—SASMYI EES=HED 2L
50,000 = 20074 10,000
—SASMY D SEH A EE2 HE
2002 = 30,0000H 6,000
—MESE 22x=HE 2 200,000& * 604 12,000
—SASMYI SEH AIEAYE 20 2L 15,300
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XA L AL(RFID) 2,500,000& » 604 15,000
- FEAl(5g ) 300,000 300
On=tl 1,120
-WESE S¥ MYs 7Y
80,000& * 149 1,120
02 =24l 9,400 9,400 0
OA& &l Xl 9,400
~HULEE SNe
500,000& = 1401S™ 7,000
—MEMY D] BEGRA RSB
100,000& » 202 = 123 2,400
202 o4dl 5,400 5,400 0
01 = LH 4 Hi 5,400 5,400 0
OMEHIIS Ml dRFA
150,000& * 3% » 128 5,400
303 L& 3 19,700 19,700 0
01 243 19,700 19,700 0
OMRe & D&Y J4P) L 2320
S=SY M3 2,900
— e 1,000,000& = 10HSH 1,000
= 500,000& = 20HS™ 1,000
- & 300,000& * 345 900
Ol s<eld =8 ZdUa
1,200,000& * 1401SH 16,800
401 A& HIZ 2018 207,000 147,500 59,500
2 40,500
e 166,500
01 A& HI 207,000 147,500 59,500
OHHdlg &otE &I 5,000,000& * 2700 A& 135,000
2 40,500
s 94,500
O2ddteAa & 72,000
— 2EdteA 22 44X
20,000,000& * 30 A 60,000
— &I &Y 1,500,000& * 30H A 4,500
— 22524 It X
2,500,000& * 30H A 7,500
Hees =% Fds 218,000 211,000 7,000
= 21,000
< 13,000
s 184,000
301 et a3z 218,000 211,000 7,000
= 21,000
< 13,000
[ia 184,000
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216,000,000 216,000
= 21,000
< 13,000
[ia 182,000
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201 -4l 54,380 50,450 3,930
01 At 22l 4,700 5,050 A 350
Oget=&H| 4,700
—HEEs XYES(FL X U2 &)
70,000& * 5&  43] 1,400
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~TMERE SBIY(EW) 7
7,000& = 1004 700
02 =224l 49,680 45,400 4,280
OAIE ZHI S X 14,000
—NHEES M8 FNE>
1,000,000% * 5& * 23| 10,000
—MEs8d 4EI FANEX(ZSI], 0D
g) 1,000,000 = 43| 4,000
O Xt & Bl 35,680
—Edgd, AN FU(AR)
1,760& = 1004 » 180 31,680
— EgH, XAX =eldl (&)
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401 Al HI K 201 I 4,510 0 4,510
01 A& tI 4,510 0 4,510
ONMEE8E AYLH HUlAY
4,510,000& * 14 4,510
Seld2o 62,678 57,778 4,900
= 3,006
< 2,450
i 57,222
ASAY - FAHHA 2o 62,678 57,778 4,900
= 3,006
< 2,450
s 57,222
P -SYAS 88 € =5 61,180 56,280 4,900
= 2,450
= 2,450
s 56,280
201 Let24d| 17,420 16,920 500
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SH: BHAMD
M BN
Sl ABSIM - HUAL el (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 1,498 1,498 0
Oget=&H| 1,498
—SEEH ANEE MEZ
41,6008 = 3" * 12& 1,498
= 556
s 942
HE2IZH (240 43,032 41,240 1,792
Jl2ZH(2Z M) 43,032 41,240 1,792
JI2ZHI(2Z 241 43,032 41,240 1,792
201 Let2d] 25,032 23,840 1,192
01 At 22l 25,032 23,840 1,192
Oget=&H| 8,400,000 8,400
O= &l 6,0008 * 21 » 11 » 123 16,632
202 o4dl 12,600 12,000 600
01 = LH o4 1 12,600 12,000 600
OJlege=d 50,000& * 2198 = 12& 12,600
203 ¥R =&l 4,200 4,200 0
04 EAS2IYRFLH| 4,200 4,200 0
ORN2EYRF=AHI 350,000& = 12& 4,200
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OZXMg =S| 100,000& * 12& 1,200
NRes (2224 1,147,873 30,000 1,117,873
HWEHAX S (SZ A HDL) 957,356 30,000 927,356
HWEHHX =S (Z A4 D) 957,356 30,000 927,356
701 JIEtSI HEES 927,356 0 927,356
01 JIEtel HE &= 927,356 0 927,356
ON=EaISHUANERI2Z E2HHSE
H == 877,356,000& 877,356
OHNEEHHIE I NAANGE2Z =EHINESEF
H == 50,000,000 50,000
702 JI2EEZ 30,000 30,000 0
0MNII3EEZ 30,000 30,000 0
OHJISHMelAld =8 FUXIIS(AF)
30,000,000& 30,000
SIS (ZA40) 190,517 0 190,517
EXRE 190,517 0 190,517
802 Btet= DI Et 190,517 0 190,517
01 = DEXSHE= 190,517 0 190,517
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